ITI Surveyor 1st Year Module 8 Levelling Surveying

(1). How to eliminate parallel between the staff and reticle in auto level? | 3irel

dad H €It 3R RiCHd & ol GHMIGR I b W foar Simg?
(A) Turn the focusing knob | BIH T Ald &l tIIQj\Ob\{.

(B) Adjust the levelling screw | JHAA Ud &l AN B

(C) Adjusting screw cover | @Wﬁﬂﬂm}lﬁﬁm

(D) Setting of the tripod | Aure o afidT e

Correct Answer : A

(2). What is the distance of interval all over country with respect to the mean sea

level of Mumbai as datum? | J:Jﬁlé% HH% & aﬁﬂﬁéaa?ﬁwaﬁqﬁ%ﬂﬁ
AR B g AT 7?

(A) 50 Km

(B) 75Km
(C) 100 Km
(D) 150 Km

Correct Answer : C

(3). What is the another name of assumed bench mark? | A M ST AT I
ORI TH 1 82

(A) GTS bench mark | G“élQFi CERIED
(B) Permanent bench mark | RSt &9 A1
(C) Arbitrary bench mark | 3nfdedt o Ah




(D) Temporary bench mark | ST & AT

Correct Answer : C

(4). What is the correction for refraction for a distance of 800meters (Correction

for refraction =0.0112D?%)? | 800 Wﬁ@$ﬁﬂ W%WQWW%
(3UacH & Y GUR = 0.0112D2)?

(A) 0.07168m
(B) 0.007168m
(C) 0.05024m
(D) 0.005024m

Correct Answer : B

(5). What is the term of sight, if the last sight taken on a levelling staff held over a
point of unknown elevation before shifting the instruments? | gfe IUHIN &l
RN B W T8 3H1d $dls & U foig TR W 7Y Al W W 3ifad
Tge e/ T, AT A8e Wl g ?

(A) Back sight | st‘c’
(B) Fore sight | U’TVRFIE_C'
(C) Intermediate sight | qmﬁw

(D) Positive sight | dPRIHD HIC

Correct Answer : B

(6). Which levelling is adopted if the obstacles between the points? | q‘%ﬁ'_gri’rﬁ

& o1 P T B ol DI Gt qafeivT 3OS STl 82
(A) Differential levelling | fesmRad wafe



(B) Reciprocal levelling | IRUIHd wafenT
(C) Longitudinal levelling | &Iﬂ%ﬂf@ﬁﬁ*ﬂ'{
(D) Profile levelling | Ww

Correct Answer : A

(7). Which levelling instrument is required in second adjustment to make the line
of collimation parallel to the axis of the bubble tube? | W@\_&'ﬁ @%
FHMHITR BITTSTRI B W M o ol gaR A H oy dafelit figHe
CAICI CRUC RN

(A) Auto level | 3ficI ciad

(B) Target level | TR Wdd
(C) Dumpy level | SHIT dlad
(D) Tilting level | fefec claa

Correct Answer : C

(8). What is the fundamental line in levels? | mﬁﬁmi‘@wév
(A) Slant line | foR&T 31

(B) Vertical line | SeareR YT

(C) Horizontal line | aﬁﬁw

(D) The axis of the telescope | CADIY Bt @

Correct Answer : D

(9). What is the instrument that one person can perform the levelling
independently? | I8 I IT IUBRUI & o U fa Wda T F AT B
bl g7




(A) Laser level | TToR olad
(B) Dumpy level | SHI didd
(C) Wye level | 9T didd

(D) Tilting level | fefec claa

Correct Answer : A

(10). Which level is that the line of sight remains horizontal once the operator has

roughly levelled the instruments? | 5T d9d TR 3TRER & IYBUN I HIC IR
TR YU B & 91G P B} 19T &fcTot It 82

(A) Dumpy level | amﬁgéaa
(B) Modern level | WW@W
(C) Wye level | ara‘éaa

(D) Auto level | Tl olad

Correct Answer : D

(11). What is the correction for curvature for a distance of 800m (Correction of
curvature=0.0785D2)? | 800 HICX &1 GRI (dshdl BT JUR = 0.0785D?) b foiy
gehdl & oY GUR T 8?

(A) 0.5024m
(B) 0.05024m
(C) 1.5024m
(D) 1.05024m

Correct Answer : B



(12). What is the term, while the vertical circle is on the left of the telescope and
the target on telescope is up in theodolite? | WW% \_IW%TEEEIT?RQ?[
TARPIT & T8 3R g 3R TP IY R deT N Siase & FWH 82

(A) Telescope forward | Py RS
(B) Telescope backward | cferR®Iu dpas
(C) Telescope inverted | <ferep I Ider
(D) Telescope normal | CAIND I I

Correct Answer : D

(13). What is the position of object in the method of trigonometric levelling? |

fermafees cafeRT fafd & sifssiae &t fufa R g??

I/

(A) Base of the object accessible | JTH d¥J hT TUR
(B) Single plane method | W@I‘fﬁﬁf
(C) Double plane method | S99 Wi fafyr



(D) Base of the object inaccessible | §_‘i1:l a¥d dT HYR

Correct Answer : A

(14). What is the level that combine good features both the dumpy level and ‘y’

level? | I8 I AT AT g Sl SH Add 3R y Add a1 | 331 faRivaraii o1
Sredarg?

(A) Cushing level | WW

(B) Modern tilting level | AreH fefedT dad

(C) Cooke’s reversible level | Wﬁaﬁaa@aa
(D) Automatic level | 3ffcHic®d add

Correct Answer : C

(15). What is the correction for curvature for a distance of 10km (Correction of

curvature =0.0785D?%)? | 10 Wﬁ@%ﬁmw%ﬁmﬁw GI'CII%(OWCII
BT YYUR = 0.0785D2)?

(A) 0.0785m

(B) 0.7850m
(C) 7.8500m
(D) 7.8700m

Correct Answer : C

(16). Which line is normal to plumb line at all points? | Hlﬁﬁgeﬁwﬁmtﬁ
oS Wid @18 & foTd AT §7

(A) Curved line | qmaaﬁ@
(B) Horizontal line | aﬁlﬂw




(C) Vertical line | SealeR vl
(D) Levelline | WFI'I%_"[

Correct Answer : D

(17). Which column is used for first entry on the level book page? | ad g US|

TR OR UGl UfafS o for for spiare o1 IUINT ot ST 82
(A) Fore sight | BBIR TT8¢

(B) Back sight | 9 UI3c

(C) Intermediate sight | eI TTSC

(D) Height of instrument | dHObQUIﬁ\%dI‘QS

Correct Answer : B

(18). Which bench mark is established for short duration such as at the end of a

day’s work? | W%%W% &mﬁ@ﬁwm%mﬁqmé%rww
fopaT ST 82

(A) Arbitrary bench mark | 3fdes} o9 A1
(B) Temporary bench mark | YT} ST ATh
(C) Permanent bench mark | TRft S ATk
(D) GTS bench mark | Gﬂﬂwaﬂw

Correct Answer : B

(19). Which instrument may compute and apply refraction and curvature
corrections? | @1 T IUHRUN TTUMT 3R 3(Udc 3R Ighdl YR & forg IuTIT

gId g7
(A) Dumpy level | SH dad




(B) Modern level | WW@W
(C) Auto/ digital level | 3fict / fsfSed g
(D) Wye level |améaa

Correct Answer : C

(20). How the staff should be read? | Wﬁﬁwwaﬁm
(A) Downwards | I BT 3R

(B) Upwards | S BT 3R

(C) Leftside | §T§ TP

(D) Right side | E'I_SC 3R

Correct Answer : B

(21). Which level instrument requires a signal permanent adjustment? | fbg

Iad & ITHRUT & ol RTe R THESH &1 SaRgddl gid! 82
(A) Tilting level | fefed™ daa@

(B) Dumpy level | SHII cidd@

(C) Auto level | 3licHc® cad

(D) Target level | TRIIC clad

Correct Answer : A

(22). Which column is used for last entry on the level book page? | Wwaﬁ

R R 3ifew ufafP & fore fog siam o1 Ui fpar S g2
(A) Fore sight | PACESIE
(B) Back sight | WFIE_C'



(C) Intermediate sight | qmﬁw

(D) Height of instrument | SUHRU BHI HaTs

Correct Answer : A

(23). Which surface is normal to the direction of gravity at all points? | gt ﬁ_ngﬁ

R TATHYU &1 =M H DI T qdg FH=I 82
(A) Horizontal surface | aﬁlﬁw

(B) Vertical surface | Siddd Idg

(C) Level surface | YHdd Hde

(D) Curved surface | YHIdaRR dde

Correct Answer : C

(24). What is the full form of GTS? | GTS &1 JU1 U T g?
(A) Great Triangulation Survey

(B) Global Trigonometrical Survey

(C) Great Trigonometrical Survey

(D) Great Traverse Survey

Correct Answer : C



(25). What is the name of test in theodolite instruments? | m@mmﬁ
o UYef0T BT AT T 82

Fi F;

(A) Bubble tube adjustment test | Sl & THITST URIE[0T
(B) Collimation in azimuth test | f&71=T G1&f0T H HIfcrHRM

(C) Vertical arc test | SR TTT GA&UT

(D) Plate level test | WIC ciael URI&UT

Correct Answer : B

(26). What is the levelling used while it is not possible to set up the level mid way
between two points as across river or lake? | It AT BT T ST fobar

STl &, STddh 14! a1 e & YA ol fagafl & aid & Hed dad o R ST
YT T8l 87

(A) Simple levelling | e aafer

(B) Profile levelling | UTRTSd AdfciT




(C) Reciprocal levelling | IRUIHd wafenT
(D) Differential levelling | S RITd walei

Correct Answer : C

(27). What is the correction for refraction for a distance of 5km (Correction of

refraction =0.0112D%)? | 5 Wﬁ@%ﬁﬂ W%WQWW%
(3T BT YR = 0.0112D%)?

(A) 1.28m
(B) 0.28m
(C) 0.028m
(D) 0.0028m

Correct Answer : B

(28). What is the another name of differential levelling? | SR walei &1
IR AT T 82

(A) Simple levelling | FTa TafciT
(B) Profile levelling | WW
(C) Continuous levelling | GEGEENEINK

(D) Longitudinal levelling | &a%m‘waa:r

Correct Answer : C



(29). What does the hand signal represent? | 814 gRT fasaT 70T Hobd SRITd g2

0

T

(A) Raise height of peg or staff | Q\Tﬂtﬂ TTH DI \3">tll‘$r ®I<§IQ

(B) Lower height of peg or staff | Q\EQWT LTH D HH &v)qlg
(C) Establish the position | fufq —fud &
(D) Returnto me | Y 3R 99

Correct Answer : A

(30). What is the diameter of earth? | QWWWW%?
(A) 12842km
(B) 12742km
(C) 12724km
(D) 12785km

Correct Answer : B



(31). What is the position of instrument in trigonometric levelling? | [ECAlIERIR

JAda & 97 ot R = g»

(A) Single plane method | W@Hﬁﬁf
(B) Double plane method | S99 Wi [afe

(C) Single plane, height of instrument are same | Udh i LQ}H, ST Pl \3">tll‘$r
T

(D) Single plane, height of instrument different level | ﬁl"'l?ﬂﬁq, Wﬂ?ﬁ
$dTs e tad IR

Correct Answer : D

(32). How many permanent adjustment are required in dumpy level? | SUl oad

A o RIRD TARNSH BT 3TaRghdT g2
(A) One | Uch
(B) Two | ?«Pf



(C) Three | aF
(D) Four | dR

Correct Answer : B

(33). What does the hand signal represent? | ETHWWTWW GQIi(‘H % ?

7

—

(A) Move to my left | AR} 918 3R gl

(B) Move to my right | X1 GT8 3R gl

(C) Move top of staff to my left | TR T8 3R WL & SHUR o STY
(D) Move top of staff to my right | %It o XY B AR GTY H of STE

Correct Answer : D



(34). What is the position of instrument in trigonometric levelling? | [ECAlIERIR

JAda & 97 ot R = g»

(A) Single plane method | Wlﬁqﬁﬁ[
(B) Double plane method | S Wi [afe

(C) Single plane, height of instrument are same | Udh¢1 LQ}H, ST Pl \3">tll‘$r
T

(D) Single plane, height of instrument different level | Wlﬁ:{, W\ﬂfﬁ
3dTs fethie daad R

Correct Answer : C

(35). What is the curvature of earth correction? | q%a‘T ﬁ%ﬂvﬁww%@
(A) 0.1785D?
(B) 0.0857D2
(C) 0.0785D?



(D) 0.0787D2

Correct Answer : C

(36). Whar does the hand signal represents? | ETHWWTWW GQIi(_‘II % ?

174

(A) Move to my left | A} 98 3R gl

(B) Move to my right | BRI €Ts 3R gel

(C) Move top of staff to my left | TR I8 3R WIH P JHUR o T4
(D) Move top of staff to my right | ¥Th & Y BT TR W H & ST

Correct Answer : B



(37). What is the name of part marked as ‘X’? | X %Wf{ﬁl’%ﬁ 'J-I'I"TW:I'ITT%

(A) First position of telescope | Wﬁm@ﬂ%{
(B) Second position of telescope | W?ﬁg{ﬂﬁ@ﬁr
(C) Third position of telescope | Wﬁ?ﬂﬂﬂ@lﬁ
(D) Fourth position of telescope | Wﬁiﬁ?ﬁ@ﬂ%{

Correct Answer : A

(38). How many level screws are used to level the instruments? | I3 I gHId

HRA & o fhan dad & wp &1 IUGIT a1 Srar g2
(A) Two level screws | FENERE]
(B) Three level screws | I dd sug

A

(C) Four level screws | dIR dad HUT

(D) Six level screws | ©96 SERERE

Correct Answer : B

(39). What is the gap of stems of ‘E’ or 3 between them of earth? | q%aﬁqa E’Ol3
& WCH BT R AT g?



(A) 3mm high | 3 B Sa
(B) 5mm high | 5 B 3=
(C) 10mm high | 10 it S=n
(D) 15mm high | 15 et S

Correct Answer : C

(40). What is the name of levelling instrument? | QAo SURUT BT ATH ol %

-

Mﬁ

= =

o

|
-

W

\
O

(A) Dumpy level | SHI cilad

(B) Wye level | 1T &dd@

(C) Cooke’s reversible level | T RaRigd qad
(D) Tilting level | fefect claa

Correct Answer : A



(41). What is the level that is widely used in construction work but not for more

precise control work? | 98 DI I1 &1dd & I ATU® U J fwfor orf & Iuai
T irar g afera sifde Tdies fRuzur o & forw 78>

(A) Laser level | TToR cilad
(B) Dumpy level | ST didd
(C) Wye level | 9T didd

(D) Tilting level | fefed claa

Correct Answer : A

(42). What is the name of part marked as ‘X’? | X %Wﬁﬁﬂ%ﬂ 'J-I'I"T$['_-I'I'1:[%r

(A) First foot screw | WUE@

(B) Second foot screw | qhe pC P
(C) Third foot screw | ?'I_SCUCQ_C'@

(D) Fourth foot screw | thlfzfug_c’@

Correct Answer : C



(43). What does the hand signal represent? | BTHWWTWWW% ?
(A) Move to my left | ﬁﬁaﬁf aﬁqsz‘r
(B) Move to my right | flﬁa‘s‘ ahvae‘r

(C) Move top of staff to my left | AR §T% 3R WIH & HUW o ST4
(D) Move top of staff to my right | w%&ﬂﬁﬁﬁ%mﬁﬁm

Correct Answer : C

(44). Which is the fundamental line in levels? | Wﬁ%@ﬁtﬁﬁg?
(A) The line of collimation | <l 36 HIfCTHIA

(B) Horizontal line | aﬁlﬂw

(C) Vertical line | SealeR vl

(D) Slantline | IREEIERE]

Correct Answer : A



(45). What is the combined correction for curvature and refraction for a distance
of 5km (Combined correction for refraction and curvature is 0.0673D?%)? | 5 et

1 g3l & foTT ahdT 31R 3Udd & foTE Tgad YUR &1 § (3Tac 3R ahdl &
T Tgad R 0.067302) B2

(A) 1.6825m
(B) 0.6825m
(C) 0.06825m
(D) 0.006825m

Correct Answer : A

(46). What is the folded length of staff, while folding staff is not in use? | HifceT

TP &1 daTs 1 8, Sidic BIeeT Wb SUINT H g1 872

(A) 2m

(B) 2.5m
(C) 3m
(D) 3.5m

Correct Answer : A



(47). What is the position of object in trigonometric levelling? | [ECALIERIR

qHaaH | a5 &! fRufd |82

(A) Base of object inaccessible | Qliq a¥d dl AHYR

(B) Base of the object accessible and inclined | IcTH ﬁwaﬁaﬂﬁ
YR

(C) Single plane method | W@qﬁﬁ[
(D) Double plane method | S99 Wi fafe

Correct Answer : B

(48). What is the process of levelling while the difference of level between two
points is determined by setting the levelling instrument mid way the point? |

AT <1 Tifchan & § Welfdb & fofg il & el ob iarer b1 SfeR wigfe seewie &l
Teg ¥ faig R Ae Hrab YT fomar S g

(A) Simple levelling | F¥Td TafeiT
(B) Differential levelling | TSR IRITA wrafeid



(C) Reciprocal levelling | IRUIHd wafenT
(D) Profile levelling | Ww

Correct Answer : A

(49). What is the combined correction for curvature and refraction for a distance
of 700m (Combined correction for refraction and curvature is 0.073D?)? | 700

ﬂaﬁ@%ﬁmﬁ%%ﬁwgwwé(&mﬁsﬁ?
qehal & foTE Tgad YUR 0.073D2 §)?

(A) 0.3297m

(B) 0.03297m
(C) 0.003297m
(D) 0.0003297m

Correct Answer : B

(50). What level is required for permanent adjustment if the bubble axis made

parallel to collimation axis of the telescope? | ww&mmm
DI MARIH T Bl § TR CHARDIY b DITCTHR & b FHMIAR gaAgal 31ef
S fear e

(A) Auto level | 3ficI wrad

(B) Tilting level | TefedTT Tad
(C) Dumpy level | SHIt Tldd
(D) Target level | TRIIC clad

Correct Answer : B






